Bellwork  Alg 2A  Wednesday, October 12, 2016
1. State the domain and the range of this graph: v
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2. Write the equation of the line that passes through this pair of points in both Point-Slope and
Slope-Intercept Forms. (6,8) & (12,-2)
Point-Slope Form Slope-Intercept Form

3. Find the slope of the line that passes through these two points. Give your answer in reduced form.
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2. Write the equation of the line that passes through this pair of points in both Point-Slope and
Slope-Intercept Forms. (6,8) & (12,-2)

Point-Slope Form M= &--2 o -5 Slope-Intercept Form
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3. Find the slope of the line that passes through these two points. Give your answer in reduced form.
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